Animal Behavior 480 Sample questions
)  The secretion of epinephrine and norepinephrine by the adrenal gland to enable a quick behavioral response to a stressor is associated with:
a) Play behavior



c) Fight or Flight behavior

b) Communication behavior

d) Learning

) If a male mouse is found to have lower than normal testosterone levels, is less aggressive, and exhibits more parental care than normal, the two neighboring individuals in the womb were likely:

a) Two females



c) a male and a female

b) Two males



d) a female and a male

a) Sound




d) Touch 

) A female macaque begins to wash the sand from her food, which is then followed by others in the group doing the same is an example of:

a) Individual learning


c) Cultural transmission

b) Cooperation



d) Innate behavior 

) If a female chooses a male for her mate based on what the male provides in terms of resources, this is an example of which evolutionary model for female choice?

a) Good genes



c) Sensory exploitation

b) Runaway selection


d) Direct benefits

) Body Symmetry is a gauge of what?

a) Intelligence



c) Health

b) Developmental stability

d) Predator aversion
) A young animal that runs and jumps is exhibiting what type of play?

a) Social play



c) Object play

b) Locomotor play


d) Sociobiopathical play 

Short answer examples
1) Outline how the endocrine and nervous systems interact with the sensory system to eventually produce a behavior.
2) Why do animals play?

3) Explain how cooperation between unrelated individuals could evolve via the Reciprocity model.

4) Give examples and reasons why we would see the three forms of parental care: females only, males only, both male and female.

5) Distinguish between ultimate and proximate causes of behavior.
6) Present the logic behind the argument that there are likely no real innate behaviors.  
7) Distinguish teaching behavior from other forms of cultural transmission. 
